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gz e fou U T ) UgeR O U URAl & Ty Sfd Sk aTdl fadmed! 1 999 Hifon-

TSI QAR Siia & dH-a1 &1 AgaUl YR §1 x3Gd TS o @ivifde §, AR Imifsie IRem & T qun qrmfie S & 9w siHeyu
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TERf R g a1 TRiE, IS Y Yay TG G gAR R B € S ¥ TSI ¥ TRES BT 31T I He-de g H AT & 71 B, i fpdt o s
MTUST 31yal SIRAHAN & T S0 RYAGRY 3ryaT TRAR ardll &l gam & THg T |

i THEH @t glawr f & O +ff B Py 78 & 379 T W gemar e & el 38 # usih € 9ew oifie faya Jere g uehdT 71 USI T ar o
B, SUY 3@ Iy IW- 81 Ael! S 0+ TSRH I TR el &R Gdhdl, S TgIY[d el 3@ qohdl, 395 AY JU-gW BT EH-UaH ol B bdl qdT 3Tb
P 3R 3T P & T T a1 & Febal, TS U 30 THIS YA < B WY T WP HaTED 0 H 3|

fay-deye Y ard ot T TR Tt R S g 3 TSt § v | o o off veRf @ weue gt ® Y sufi b g srawgear § sifie uSih %
RN 3yaT TIRATRS Sl # gXIAT B oI &1 8 Ha 1 ¢ b ol &1 o 30 safekard Siaet # fobft @t Aep-clep 3R SXAT 31T T @rell| USrl &
Ty Hft-Feft qF o Ry U B O § 9 BH SHTaRIdhdl 9 SHd IY SHUST FHIA I | I THS-dIA &b A-o I 3R Bl & af Wpex 3R PR d& A
P! AR §H IR dod §

T TG TRY % 5d aF Tgd el 7 81, TSI ¥ BIg Tl A B Aled S 7 ST YD) W & U7 3T TSI GE & R 3 S| usiat ¥ e
F & oL I eyl g € b w= ) e F 71 3maR § = § WA-3FeH BIA-BIE a1 R IS 21 § $R 91d w81 F g RR wéad db o
g B 1 39T ISR & S ¥ Ba-%d disd, 9P W I S TaH ¥ T R I J A a Yaas i ISR F T R g1y 7 IS, 30T Jaek o
FHBATET 3T o) T T

Q.No: 1 ;N .
370528550 [0 TC el & & Sudwd T & g fd < o1 T S

A TSIt ®1 Ug a1 UK BT B
B ikaie® shaw & geay

C AR WIS FR&T

D fay-dyc «1 A5w

Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Q.No: 2 LN . !
S70825sy SUAH TR # P F 9 fw wra-gm ot v e b e 2

A Hft-wft
B Fe-FC
C BIA-BIE
D IR- R

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Q.No: 3
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Correct Ans : D
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Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

fEer: ST B UgHR I T U=l & T S IR aIe fawed! B 99 Hifre-

I R-IIR & AU g ST § |
q -0t WY e AT E |
gE-Fre A
TG 5T T

g F

@R Ol & TEarn

9 8 9 95 I °iA,
Wy foR ey

g d¢ |

HTel AT A foeRTY
 offa et 3t et
foreht ot At

G,

7 81 SR PIg At

Y X GrR B 4o g a1 g
q -t WY I AT §

Q.No: 6 - -
370533651 A & 9 ya o1 oef T R

A foer
B o

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda247

C Iafd
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Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question
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Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:
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Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given
2677053 sentences, and choose the option that provides the correct final order.

P. I was sincerely affected by this discourse.

Q. Who wouldn't have been?

R. Henceforth I resolved not to think of going abroad any more, but to settle at home according to my father's desire.

S. But a few days wore it all off and I resolved to run away from him.
A SQRP
B SPRQ
C PSQR
D PQRS
Correct Ans : D

Subject : Gen. English (English Lang 2)

Q.No: 10 1In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given
2677108 sentences, and choose the option that provides the correct final order.
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P. It had taken months to persuade her husband to allow her to go.
Q. She began walking up and down the hall, and whenever the butler came by, she asked him the time.
R. This, she kept telling herself, was the one plane she must not miss.

S. If she missed it, he might easily decide that she should cancel the whole thing.

A QRPS
B SQPR
C RPQS
D PRQS

Correct Ans : A

Subject : Gen. English (English Lang 2)

2.7'\;.07:61618 Select the incorrectly spelt word.
A Advercity

B Probability

c Submarine

D Attention

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 12 Given below are four sentences which have been jumbled. Pick the option that gives the correct order.
2717991

A. It was started in 2011 as a platform for users to watch other people play video games.

B. In recent years, Twitch has grown to become the cultural hub of the gaming community.

C. It now hosts tens of thousands of creators who broadcast live to a global audience of around 17.5 million viewers a day.

D. Twitch.tv is a live-video streaming website.

A DABC
B ABCD
C DCBA
D BACD

Correct Ans : A

Subject : Gen. English (English Lang 2)

Q.No: 13 1In this section, each item consists of six sentences of a passage. The first and sixth sentences are given in the beginning as S1
2718017 3nd S6. The middle four sentences in each have been jumbled up and labelled as P, Q, R and S. You are required to find the
proper sequence of the four sentences and mark your response accordingly on the Answer Sheet.

S1- One day, my colleague Shyam collapsed in the office.

S6: The boss at once sanctioned his sick leave.

P: Our boss soon joined us and talked with the doctor.

Q: He was told that the patient needed complete rest for a month.
R: Shyam was at once taken to the hospital.

S: The doctor, on duty, examined him thoroughly.

A PQRS


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

B SPQR
C RQSP
D RSPQ

Correct Ans : D

Subject : Gen. English (English Lang 2)

Q.No: 14 1In the following question, choose the option which can be substituted for the given words/sentences.
2690105
One who is selfishly devoted to the welfare of others.

A Arbitrator
B Anarchist
C Atheist
D Altruist

Correct Ans : D

Subject : ENGLISH

Q.No: 15 1In the following question, choose the option which can be substituted for the given words/sentences.
2690106

One who hates marriage.
A Misopaedist
B Misogynist
C Sceptic
D Misogamist
Correct Ans : D
Subject : ENGLISH

Q-No: 16 Select the option that is NOT an antonym of another word by way of adding the prefix ‘un-’
2690133

A Underneath

B Unreliable

C Unfiltered

D Unadorned

Correct Ans : A
Subject : ENGLISH

Q.No: 17 Select the correct pair of homophones to fill in the blanks.
2690134

As the government declares the imposition of Section 144, people food and supplies.

A of people gathered outside the Jantar Mantar to protest against the bill in Delhi.
hoard ; hoard
hoard ; horde

horde ; horde

o 0o w »r

horde ; hoard
Correct Ans : B

Subject : ENGLISH
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Q.No: 18 1In the following question, out of the given four alternatives, select the one which is similar in meaning to the
2717720 given bracketed word.

Her words left an (indelible) impression on me for years to come.

A illegal

B illegible

C inerasable
D ineffective

Correct Ans : C
Subject : ENGLISH

Q.No: 19 1In the following question, out of the given four alternatives, select the one which is similar in meaning to the
2717721 gjyen bracketed word.

An attempt is being made to (entice) otters back to the river.
A ensue
B entail
C enrage
D entrap

Correct Ans : D
Subject : ENGLISH

Q.No: 20 Against the key word, are given some other words. Choose the word or phrase which is nearest in meaning to the key word.
2717722

Bold
A Daring
B Meek
C Cowardly
D Clumsy

Correct Ans : A

Subject : ENGLISH

Q.No: 21 Choose the word from the options that is most similar in meaning to the given word.

2717729
Gradual
A Slow
B Woe
C Menace
Acute

Correct Ans : A

Subject : ENGLISH

Q.No: 22 In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.
2717730
Petulant
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A Fragile

B Fractious
C Agreeable
D Patient

Correct Ans : B
Subject : ENGLISH

Q.No: 23 In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.
2717731

Indelible
A Destructible
B Erasable
C Permanent
D Fleeting

Correct Ans : C

Subject : ENGLISH

Q.No: 24 1In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.
2717732

Sombre

A Dour

B Inimical

C Droll
Recurrent

Correct Ans : A

Subject : ENGLISH

Q.No: 25 1In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.
2717733

Convivial
A Sulky
B Smug
C Uncouth
D Jovial

Correct Ans : D

Subject : ENGLISH

Q.No: 26 Choose the word from the options that is most similar in meaning to the given word.

2717740

Recuperate
A Convalesce
B Mundane
C Venal

Ail

Correct Ans : A
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Subject : ENGLISH

Q.No: 27 Choose the word from the options that is most similar in meaning to the given word.

2717741

Noisome
A Autonomous
B Unpleasant
C Innocuous
D Incessantly

Correct Ans : B
Subject : ENGLISH

Q.No: 28 Choose the word from the options that is most similar in meaning to the given word.

2717742

Guile
A Besmirch
B Artfulness
C Inglorious
D Honesty

Correct Ans : B
Subject : ENGLISH

Q.No: 29 Choose the word from the options that is most similar in meaning to the given word.

2717743
Lugubrious
A Mournful
B Emulate
C Cheerful
D Concomitant

Correct Ans : A

Subject : ENGLISH

Q.No: 30 Choose the word from the options that is most similar in meaning to the given word.

2717748

Repeal
A Endow
B Lugubrious
C Introduce
D Revoke

Correct Ans : D

Subject : ENGLISH

Q.No: 31 Choose the word from the options that is most similar in meaning to the given word.
2717749

Haughty

A Humble
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B Arrogant
C Collusion
D Dearth

Correct Ans : B

Subject : ENGLISH

Q.No: 32 Choose the word from the options that is most similar in meaning to the given word.

2717750

Innocuous
A Demure
B Benign
C Menacing
D Vie

Correct Ans : B

Subject : ENGLISH

Q.No: 33 In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
2717751

ALLURE
A Adopt
B Rewind
C Repulse
D Attract

Correct Ans : C
Subject : ENGLISH

Q.No: 34 1In this section, each item consists of a word or a phrase that is bracketed in the given sentence. It is followed by four words or
2717759 phrases. Select the word or phrase which is closest as the opposite in meaning to the bracketed word or phrase.

The father was upset by his son’s (hostile) attitude.

A Friendly

B Positive

C Negative
D Motivating

Correct Ans : A
Subject : ENGLISH

Q.No: 35 1In the following question, choose the word opposite in meaning to the given word.

2717771
Inalienable
A Inviolable
B Absolute
C Transferable
D Sacrosanct

Correct Ans : C
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Subject : ENGLISH

Q.No: 36 1In the following question, choose the word opposite in meaning to the given word.

2717772

Virulent
A Extremely
B Venomous
C Harmless
D Dangerous

Correct Ans : C
Subject : ENGLISH

Q.No: 37 Choose the word from the options that is Opposite in meaning to the given word.

2717783
Dulcet
A Sweet
B Harsh
C Penurious
D Enliven

Correct Ans : B
Subject : ENGLISH

Q.No: 38 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the
2717798 Idiom/Phrase.

To play ducks and drakes

A to behave recklessly
B to change attitude
C to show friendly nature

to act cleverly in bad situation
Correct Ans : A

Subject : ENGLISH

Q.No: 39 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the
2717799 1diom/Phrase.

Pull someone's leg
trust someone very much
joke with someone

get upset with someone easily

g 0o w >

tell someone about your achievements
Correct Ans : B

Subject : ENGLISH

Q.No: 40 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the
2717800 pracketed Idiom/Phrase.
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Most people in the African countries are still (living from hand to mouth).
A to have just enough money to live on and nothing extra
B saving money for the future generations
C doing manual labour for livelihood
D earning a lot of wealth by selfish means

Correct Ans : A
Subject : ENGLISH

Q.No: 41 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the
2717801 Idiom/Phrase.

A drop in a bucket
A as much as possible
B a handsome amount
C nothing at all
D a very insignificant amount

Correct Ans : D

Subject : ENGLISH

Q.No: 42 1In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the
2717802 Idiom/Phrase.

Whole nine yards
A under control situation
B between two dangers
C work or study hard
D everything possible

Correct Ans : D

Subject : ENGLISH

Q.No: 43 Select the most appropriate meaning of the bracketed idiom in the given sentence.
2717805

He has got (the gift of the gab) - he should be a politician.
A The ability to understand one's point of view.
B The inability to convince people easily.
C The ability to speak with eloquence and fluency.
D The ability to be silent for a long time.

Correct Ans : C

Subject : ENGLISH

Q.No: 44 Four alternative meanings are given for the idiom/phrase bracketed in the sentence. Choose the alternative which best expresses
2717806 the meaning of the idiom/phrase.

Her saree was way (over the top) for a somber occasion like this.
A Extremely expensive

B Colorful and vibrant
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C Excessive and not suitable for the occasion
D Shabby and tattered

Correct Ans : C

Subject : ENGLISH

Q.No: 45 1In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.
2717807
Be saved by the bell

A Score at the last moment of a game

B Use the bell as a shield

C Narrowly escape a troublesome situation
D Help someone in solving their problem

Correct Ans : C

Subject : ENGLISH

Q.No: 46 1In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.
2717808
Lose one's marbles

A Go insane

B Become poor

C Become wise

D Repeat a mistake

Correct Ans : A
Subject : ENGLISH

Q.No: 47 Four alternative meanings are given for the idiom/phrase given below. Choose the alternative which best expresses the meaning
2717809 f the idiom/phrase.

A fair crack of the whip
A Severe punishment
B A good check
(o} An equal chance to do something
D Failure of administration

Correct Ans : C
Subject : ENGLISH

Q.No: 48 Select the most appropriate meaning of the given idiom.
2717817
Improve the shining hour

A To make the most of one's time

B To take your work very seriously

C Have a chance of success

D To work an excessive amount every day

Correct Ans : A

Subject : ENGLISH
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Q.No: 49 Select the most appropriate meaning of the given idiom.
2717818
Donkey's years

A To deal with someone or something that proves unexpectedly troublesome or powerful
B To dwell tediously and repeatedly upon a single subject or topic;

C A very long time

D Find exactly the right answer

Correct Ans : C

Subject : ENGLISH

Q.No: 50 Select the most appropriate meaning of the given idiom.
2717819

A thorn in the flesh/side
A A source of continual annoyance or trouble
To avoid or delay making an important decision, normally on a regular basis

c An ingrained feeling of resentment deriving from a sense of inferiority and sometimes marked by aggressive
behaviour

D Something you say when the person you were talking about appears unexpectedly

Correct Ans : A

Subject : ENGLISH

Q.No: 51 Select the most appropriate meaning of the given idiom.
2717820
Shake in one's shoes

A When something seems unlikely to happen
B Be very timid or nervous

C Past events that are not important anymore
D Be very scared or nervous

Correct Ans : D
Subject : ENGLISH

Q.No: 52 Select the most appropriate meaning of the given idiom.
2717821
The devil is in the details

A Hesitant or unable to decide on something

B To be aware of the information

C An unreasonable or difficult demand

D Something might seem simple at a first look but will take more time and effort to complete than expected

Correct Ans : D

Subject : ENGLISH

Q.No: 53 In the following question, four alternatives are given for the idiom/phrase given in bracket in the sentence. Choose the alternative
2717829 that best expresses the meaning of the idiom/phrase given in bracket.

The new Prime Minister thought he would (give) civil servants (enough rope) for the first six months after which he would check
the work done himself.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda ELI 7 GET IT ON

Google Play

A Many directives and orders.
B Sufficient advice.

C Sufficient training.

D Enough freedom for action.

Correct Ans : D

Subject : ENGLISH

Q.No: 54 Choose the exact meaning of the idiomatic expression/phrase.

2717830
Lion’s share.
A The largest part.
B Miniscule.
C Keep praying.
D An average portion.

Correct Ans : A
Subject : ENGLISH

Q.No: 55 Choose the exact meaning of the idiomatic expression/phrase.
2717831

To eat a humble pie

A Scold

B Praise

C Apologize
D Hungry

Correct Ans : C
Subject : ENGLISH

Q.No: 56 Which of the following idiomatic expression will substitute the bracketed part of the sentence?
2717832

With the new CEO taking over the company’s command, some at the company believe that a few (will be dismissed).
A miss the boat.
B have cold feet.
C fingers crossed.
D heads will roll.

Correct Ans : D

Subject : ENGLISH

Q.No: 57 Choose the exact meaning of the idiomatic expression/phrase.
2717833
To be fair and square.

A Selfish
B Honest
Cc Deceiving
D Biased

Correct Ans : B
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Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Immigration is the international movement of people to a destination country of which they are not natives or where they do not possess
citizenship in order to settle as permanent residents or naturalized citizens. Commuters, tourists, and other short-term stays in a destination
country do not fall under the definition of immigration or migration; seasonal labour immigration is sometimes included, however. As for
economic effects, research suggests that migration is beneficial to both the receiving and sending countries. Research, with few exceptions,
finds that immigration on average has positive economic effects on the native population, but is mixed as to whether low-skilled immigration
adversely affects low-skilled natives.

Studies show that the elimination of barriers to migration would have profound effects on world GDP, with estimates of gains ranging between
67 and 147% for the scenarios in which 37 to 53% of the developing countries' workers migrate to the developed countries. Development
economists argue that reducing barriers to labour mobility between developing countries and developed countries would be one of the most
efficient tools of poverty reduction. Positive net immigration can soften the demographic (dilemma) in the aging global North. The academic
literature provides mixed findings for the relationship between immigration and crime worldwide.

Q.No: 58 “The elimination of barriers to migration would have profound effects on world GDP.” Which of the following supports the given
2720738S0 statement?

More than 30% of the developed countries’ workers migrate to the developing countries.
37 to 50% of the developing countries' workers migrate to the developed countries.

100% of the developing countries' workers migrate to the developed countries.

o 0o w »r

Less than 50% of the developed countries’ workers migrate to the developing countries.
Correct Ans : B

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Immigration is the international movement of people to a destination country of which they are not natives or where they do not possess
citizenship in order to settle as permanent residents or naturalized citizens. Commuters, tourists, and other short-term stays in a destination
country do not fall under the definition of immigration or migration; seasonal labour immigration is sometimes included, however. As for
economic effects, research suggests that migration is beneficial to both the receiving and sending countries. Research, with few exceptions,
finds that immigration on average has positive economic effects on the native population, but is mixed as to whether low-skilled immigration
adversely affects low-skilled natives.

Studies show that the elimination of barriers to migration would have profound effects on world GDP, with estimates of gains ranging between
67 and 147% for the scenarios in which 37 to 53% of the developing countries' workers migrate to the developed countries. Development
economists argue that reducing barriers to labour mobility between developing countries and developed countries would be one of the most
efficient tools of poverty reduction. Positive net immigration can soften the demographic (dilemma) in the aging global North. The academic
literature provides mixed findings for the relationship between immigration and crime worldwide.

Q.No: 59

272073851 Which of the following best describes ‘Immigration’?

A the international movement of people to a country where they can get food and shelter
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B the international movement of people to a country where commuters can get a citizenship
C the international movement of people to a country of which they are not natives
D the international movement of people to a country of which they are natives

Correct Ans : C
Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Immigration is the international movement of people to a destination country of which they are not natives or where they do not possess
citizenship in order to settle as permanent residents or naturalized citizens. Commuters, tourists, and other short-term stays in a destination
country do not fall under the definition of immigration or migration; seasonal labour immigration is sometimes included, however. As for
economic effects, research suggests that migration is beneficial to both the receiving and sending countries. Research, with few exceptions,
finds that immigration on average has positive economic effects on the native population, but is mixed as to whether low-skilled immigration
adversely affects low-skilled natives.

Studies show that the elimination of barriers to migration would have profound effects on world GDP, with estimates of gains ranging between
67 and 147% for the scenarios in which 37 to 53% of the developing countries' workers migrate to the developed countries. Development
economists argue that reducing barriers to labour mobility between developing countries and developed countries would be one of the most
efficient tools of poverty reduction. Positive net immigration can soften the demographic (dilemma) in the aging global North. The academic
literature provides mixed findings for the relationship between immigration and crime worldwide.

(22.7'\12%7%0852 As far as economic effects are concerned about migration, which of the following is correct according to research?
A Migration is neither beneficial to anyone as people are treated badly during the process.

B Migration is beneficial to both the receiving and sending countries.

C Migration is not beneficial for developing countries.

D Migration is only beneficial for developed countries.

Correct Ans : B

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Immigration is the international movement of people to a destination country of which they are not natives or where they do not possess
citizenship in order to settle as permanent residents or naturalized citizens. Commuters, tourists, and other short-term stays in a destination
country do not fall under the definition of immigration or migration; seasonal labour immigration is sometimes included, however. As for
economic effects, research suggests that migration is beneficial to both the receiving and sending countries. Research, with few exceptions,
finds that immigration on average has positive economic effects on the native population, but is mixed as to whether low-skilled immigration
adversely affects low-skilled natives.

Studies show that the elimination of barriers to migration would have profound effects on world GDP, with estimates of gains ranging between
67 and 147% for the scenarios in which 37 to 53% of the developing countries' workers migrate to the developed countries. Development
economists argue that reducing barriers to labour mobility between developing countries and developed countries would be one of the most
efficient tools of poverty reduction. Positive net immigration can soften the demographic (dilemma) in the aging global North. The academic
literature provides mixed findings for the relationship between immigration and crime worldwide.
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2.7'\12%7%1853 As used in the given passage, what does the underlined bracket word ‘dilemma’ most nearly mean?
A happiness

B friendliness

C violence

D problem

Correct Ans : D

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Immigration is the international movement of people to a destination country of which they are not natives or where they do not possess
citizenship in order to settle as permanent residents or naturalized citizens. Commuters, tourists, and other short-term stays in a destination
country do not fall under the definition of immigration or migration; seasonal labour immigration is sometimes included, however. As for
economic effects, research suggests that migration is beneficial to both the receiving and sending countries. Research, with few exceptions,
finds that immigration on average has positive economic effects on the native population, but is mixed as to whether low-skilled immigration
adversely affects low-skilled natives.

Studies show that the elimination of barriers to migration would have profound effects on world GDP, with estimates of gains ranging between
67 and 147% for the scenarios in which 37 to 53% of the developing countries' workers migrate to the developed countries. Development
economists argue that reducing barriers to labour mobility between developing countries and developed countries would be one of the most
efficient tools of poverty reduction. Positive net immigration can soften the demographic (dilemma) in the aging global North. The academic
literature provides mixed findings for the relationship between immigration and crime worldwide.

Q.No: 62 “The academic literature provides mixed findings for the relationship between immigration and crime worldwide.” Which part of
2720738S4 speech is the word ‘worldwide’ in the given line?

noun
adjective

determiner

o o w »r

preposition
Correct Ans : B
Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Globalisation is the process of interaction and integration among people, companies, and governments worldwide. This increase in global
interactions has caused a growth in international trade and the exchange of ideas, beliefs, and culture. Globalisation is primarily an economic
process of interaction and (integration) that is associated with social and cultural aspects. However, disputes and international diplomacy
are also large parts of the history of globalisation, and of modern globalisation. The expansion of global markets liberalizes the economic
activities of the exchange of goods and funds. Removal of cross-border trade barriers has made the formation of global markets more
feasible.
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Advances in transportation, like the steam locomotive, steamship, jet engine, and container ships, and developments in telecommunication
infrastructure, like the telegraph, Internet, mobile phones, and smartphones, have been major factors in globalisation and have generated
further interdependence of economic and cultural activities around the globe. In 2000, the International Monetary Fund (IMF) identified four
basic aspects of globalisation: trade and transactions, capital and investment movements, migration and movement of people, and the
dissemination of knowledge. Globalizing processes affect and are affected by business and work organization, economics, sociocultural
resources, and the natural environment. Academic literature commonly divides globalisation into three major areas: economic globalisation,
cultural globalisation, and political globalisation.

2'7'\‘2%7643150 “Academic literature commonly divides globalisation into three major areas.” Which of the following is not of them?
A economic globalisation

B cultural globalisation

C political globalisation

D religious globalisation

Correct Ans : D

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Globalisation is the process of interaction and integration among people, companies, and governments worldwide. This increase in global
interactions has caused a growth in international trade and the exchange of ideas, beliefs, and culture. Globalisation is primarily an economic
process of interaction and (integration) that is associated with social and cultural aspects. However, disputes and international diplomacy
are also large parts of the history of globalisation, and of modern globalisation. The expansion of global markets liberalizes the economic
activities of the exchange of goods and funds. Removal of cross-border trade barriers has made the formation of global markets more
feasible.

Advances in transportation, like the steam locomotive, steamship, jet engine, and container ships, and developments in telecommunication
infrastructure, like the telegraph, Internet, mobile phones, and smartphones, have been major factors in globalisation and have generated
further interdependence of economic and cultural activities around the globe. In 2000, the International Monetary Fund (IMF) identified four
basic aspects of globalisation: trade and transactions, capital and investment movements, migration and movement of people, and the
dissemination of knowledge. Globalizing processes affect and are affected by business and work organization, economics, sociocultural
resources, and the natural environment. Academic literature commonly divides globalisation into three major areas: economic globalisation,
cultural globalisation, and political globalisation.

2'7'\12%76:1151 How has removal of cross-border trade barriers influenced global markets?
A It has troubled the formation of global markets.

B It has put the formation of global markets in uncertainty.

C It has influenced the formation of global markets in a negative way.
D It has made the formation of global markets more feasible.

Correct Ans : D

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.
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Globalisation is the process of interaction and integration among people, companies, and governments worldwide. This increase in global
interactions has caused a growth in international trade and the exchange of ideas, beliefs, and culture. Globalisation is primarily an economic
process of interaction and (integration) that is associated with social and cultural aspects. However, disputes and international diplomacy
are also large parts of the history of globalisation, and of modern globalisation. The expansion of global markets liberalizes the economic
activities of the exchange of goods and funds. Removal of cross-border trade barriers has made the formation of global markets more
feasible.

Advances in transportation, like the steam locomotive, steamship, jet engine, and container ships, and developments in telecommunication
infrastructure, like the telegraph, Internet, mobile phones, and smartphones, have been major factors in globalisation and have generated
further interdependence of economic and cultural activities around the globe. In 2000, the International Monetary Fund (IMF) identified four
basic aspects of globalisation: trade and transactions, capital and investment movements, migration and movement of people, and the
dissemination of knowledge. Globalizing processes affect and are affected by business and work organization, economics, sociocultural
resources, and the natural environment. Academic literature commonly divides globalisation into three major areas: economic globalisation,
cultural globalisation, and political globalisation.

(22'7'\12%76‘;5152 According to the passage, which of the following affects globalizing processes?
A dissemination of knowledge

B sociocultural resources

C further interdependence

D decision making

Correct Ans : B

Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Globalisation is the process of interaction and integration among people, companies, and governments worldwide. This increase in global
interactions has caused a growth in international trade and the exchange of ideas, beliefs, and culture. Globalisation is primarily an economic
process of interaction and (integration) that is associated with social and cultural aspects. However, disputes and international diplomacy
are also large parts of the history of globalisation, and of modern globalisation. The expansion of global markets liberalizes the economic
activities of the exchange of goods and funds. Removal of cross-border trade barriers has made the formation of global markets more
feasible.

Advances in transportation, like the steam locomotive, steamship, jet engine, and container ships, and developments in telecommunication
infrastructure, like the telegraph, Internet, mobile phones, and smartphones, have been major factors in globalisation and have generated
further interdependence of economic and cultural activities around the globe. In 2000, the International Monetary Fund (IMF) identified four
basic aspects of globalisation: trade and transactions, capital and investment movements, migration and movement of people, and the
dissemination of knowledge. Globalizing processes affect and are affected by business and work organization, economics, sociocultural
resources, and the natural environment. Academic literature commonly divides globalisation into three major areas: economic globalisation,
cultural globalisation, and political globalisation.

2'7'\12%7646153 As used in the given passage, what does the underlined bracket word ‘integration’ most nearly mean?
A incorporation

B perfection

C precision

D division

Correct Ans : A
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Subject : ENGLISH

Passage:

Read the following passage carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Globalisation is the process of interaction and integration among people, companies, and governments worldwide. This increase in global
interactions has caused a growth in international trade and the exchange of ideas, beliefs, and culture. Globalisation is primarily an economic
process of interaction and (integration) that is associated with social and cultural aspects. However, disputes and international diplomacy
are also large parts of the history of globalisation, and of modern globalisation. The expansion of global markets liberalizes the economic
activities of the exchange of goods and funds. Removal of cross-border trade barriers has made the formation of global markets more
feasible.

Advances in transportation, like the steam locomotive, steamship, jet engine, and container ships, and developments in telecommunication
infrastructure, like the telegraph, Internet, mobile phones, and smartphones, have been major factors in globalisation and have generated
further interdependence of economic and cultural activities around the globe. In 2000, the International Monetary Fund (IMF) identified four
basic aspects of globalisation: trade and transactions, capital and investment movements, migration and movement of people, and the
dissemination of knowledge. Globalizing processes affect and are affected by business and work organization, economics, sociocultural
resources, and the natural environment. Academic literature commonly divides globalisation into three major areas: economic globalisation,
cultural globalisation, and political globalisation.

Q.No: 67 “However, disputes and international diplomacy are also large parts of the history of globalisation, and of modern globalisation.”
2720741S4 \hich part of speech is the word *‘modern’ in the given line?

A noun

B adjective
@ pronoun
D adverb

Correct Ans : B

Subject : ENGLISH

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Whose woods these are I think I know.
His house is in the village though;

He will not see me stopping here

To watch his woods fill up with snow.
My little horse must think it queer

To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake

To ask if there is some mistake.

The only other sound’s the sweep
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Of easy wind and downy flake.

The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep,

And miles to go before I sleep.

25'\12%9638250 What figure of speech has been used in the line "The woods are lovely, dark and deep"?
A Metaphor

B Hyperbole

C Personification

D Simile

Correct Ans : A
Subject : ENGLISH

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Whose woods these are I think I know.
His house is in the village though;

He will not see me stopping here

To watch his woods fill up with snow.
My little horse must think it queer

To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

The only other sound’s the sweep

Of easy wind and downy flake.

The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep,

And miles to go before I sleep.

Q.NO: 69 : [ "o i f .o : [
272093251 What part of speech is the word "woods" in the following line: "Whose woods these are I think I know.
A Verb

B Adverb

C Adjective
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D Noun

Correct Ans : D

Subject : ENGLISH

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Whose woods these are I think I know.
His house is in the village though;

He will not see me stopping here

To watch his woods fill up with snow.
My little horse must think it queer

To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

The only other sound’s the sweep

Of easy wind and downy flake.

The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep,

And miles to go before I sleep.

2'7'\12%9730252 Who is stopping in the woods to watch the snow fill up?
A The poet

B The helper

C The owner of the woods

D The lake

Correct Ans : A
Subject : ENGLISH

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Whose woods these are I think I know.
His house is in the village though;

He will not see me stopping here
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To watch his woods fill up with snow.
My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

The only other sound’s the sweep

Of easy wind and downy flake.

The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep,

And miles to go before I sleep.

(22'7'\12%9731253 What does the poet’s horse do when it stops in the woods?
A Wonders if there is some mistake

B Runs away

C Eats the snow

D Does nothing

Correct Ans : A

Subject : ENGLISH

Passage:

Read the following poem carefully and choose the most appropriate answers to the given questions out of the four alternatives.

Whose woods these are I think I know.
His house is in the village though;
He will not see me stopping here

To watch his woods fill up with snow.
My little horse must think it queer

To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

The only other sound’s the sweep

Of easy wind and downy flake.

The woods are lovely, dark and deep,

But I have promises to keep,
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And miles to go before I sleep,

And miles to go before I sleep.

2'7'\12%9732254 What does the poet have to do before he can sleep?
A Watch the snow fill up in the woods

B Go back to the village

C Keep promises

D Burning the woods

Correct Ans : C

Subject : ENGLISH

Q.No: 73 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724900 expresses the same sentence in Indirect/Direct Speech.

The teacher has said to the pupils, “Sea-water is different from the river water.”
The teacher has told the pupils that sea-water must be different from river water.
The teacher has told the pupils that sea-water is different from river water.

The teacher has told the pupils that sea-water has been different from river water.

g 0o w >

The teacher has told the pupils that sea-water was different from river water.
Correct Ans : B

Subject : ENGLISH

Q.No: 74 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724901 expresses the same sentence in Indirect/Direct Speech.

The boy said to the fruit-seller, “Are all these mangoes sweet?”
A The boy asked the fruit-seller if all these mangoes were sweet.
B The boy asked the fruit-seller if all those mangoes are sweet.
C The boy asked the fruit-seller if all those mangoes were sweet.
D The boy asked the fruit-seller if all those mangoes had been sweet.

Correct Ans : C

Subject : ENGLISH

Q.No: 75 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724902 expresses the same sentence in Indirect/Direct Speech.

Mr. Gupta said to me, "Why are you taking down this fence?"
Mr. Gupta asked me why was I taking down this fence.
Mr. Gupta asked me why I was taking down that fence.

Mr. Gupta said to me that why are you taking down this fence.

o 0O w >

Mr. Gupta said to me why you were taking down that fence.
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Correct Ans : B

Subject : ENGLISH

Q.No: 76 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724903 expresses the same sentence in Indirect/Direct Speech.

Jeremy said to Josh, “Do we need to look for a new place?”
A Jeremy asked Josh if they had needed to look for a new place.
B Jeremy asked Josh if they need to look for a new place.
C Jeremy asked Josh if they have needed to look for a new place.
D Jeremy asked Josh if they needed to look for a new place.

Correct Ans : D

Subject : ENGLISH

Q.No: 77 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724904 expresses the same sentence in Indirect/Direct Speech.

Raveena said to Biyanka, “We have some more issues to deal with.”
A Raveena told Biyanka that they are having some more issues to deal with.
B Raveena told Biyanka that they have some more issues to deal with.
C Raveena told Biyanka that they had some more issues to deal with.
D Raveena told Biyanka that we had some more issues to deal with.

Correct Ans : C
Subject : ENGLISH

Q.No: 78 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724905 expresses the same sentence in Indirect/Direct Speech.

Pinky said, “I am returning on the last day of the festival.”
A Pinky said that she has been returning on the closing day of the festival.
B Pinky said that she had been returning on the closing day of the festival.
Cc Pinky said that she was returning on the closing day of the festival.
D Pinky said that she is returning on the closing day of the festival.

Correct Ans : C

Subject : ENGLISH

Q.No: 79 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724906 expresses the same sentence in Indirect/Direct Speech.

Nitya said, “I have some important work to do.”
A Nitya said that he have some important work to do.

B Nitya said that he had some important work to do.
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C Nitya said that he has some important work to do.
D Nitya said that he was having some important work to do.

Correct Ans : B

Subject : ENGLISH

Q.No: 80 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724907 expresses the same sentence in Indirect/Direct Speech.

Joana said, “Henry is a very naughty child.”
A Joana said that Henry was a very naughty child.
B Joana said that Henry is a very naughty child.
C Joana said that Henry was being a very naughty child.
D Joana said that Henry has been a very naughty child.

Correct Ans : A
Subject : ENGLISH

Q.No: 81 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724908 expresses the same sentence in Indirect/Direct Speech.

Karan said, "My car broke down in the middle of the road.”
A Karan said that his car had broke down in the middle of the road.
B Karan said that his car broke down in the middle of the road.
C Karan said that his car had broken down in the middle of the road.
D Karan said that his car has broken down in the middle of the road.

Correct Ans : C

Subject : ENGLISH

Q.No: 82 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724909 gypresses the same sentence in Indirect/Direct Speech.

Gajendra Kushwaha said, "I need to order food.”
Gajendra Kushwaha said that he needed to order food.
Gajendra Kushwaha said that he has needed to order food.

Gajendra Kushwaha said that he had needed to order food.

g 0O W >

Gajendra Kushwaha said that he was to be needed to order food.
Correct Ans : A

Subject : ENGLISH

Q.No: 83 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724910 expresses the same sentence in Indirect/Direct Speech.

He said, “Alas! I am undone!”


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda‘aq 7 GET IT ON

Google Play

He said that it was his undoing.
He exclaimed pathetically that he was undone.

He stated that he was undone.

o 0o w »r

He cried that he was being undone!
Correct Ans : B
Subject : ENGLISH

Q.No: 84 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724911 gypresses the same sentence in Indirect/Direct Speech.

He said, “We have done our work.”
A He said that we had done our work.
B He said that they have done their work.
C He said that they had done their work.
D He said that they should do their work.

Correct Ans : C

Subject : ENGLISH

Q.No: 85 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724912 expresses the same sentence in Indirect/Direct Speech.

He said that he had been waiting there for a long time.
A He said, "I have been waiting here for a long time.”
B He said, “She has been waiting here for a long time.”
Cc He said, "He had been waiting there for a long time.”
D He said, “You are waiting here for a long time.”

Correct Ans : A

Subject : ENGLISH

Q.No: 86 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724913 expresses the same sentence in Indirect/Direct Speech.

My mother confessed with regret that she had squandered all her money.
My mother said, "Alas! I have squandered all my money."

A
B My mother said, "She has been very foolish to squander all my money."
C My mother said, "How stupid of her that I had squandered all my money.'
D My mother said, "I am a fool to squander all my money."

Correct Ans : A

Subject : ENGLISH

Q.No: 87 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724914 expresses the same sentence in Indirect/Direct Speech.
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He said to her, "May you succeed in whatever you do!”
He told her that she might succeed in whatever she do.
He prayed to God that she might succeed in whatever she did.

He wished her success in whatever she does.

o 0o w »r

He said to her that she might succeed in whatever she did.
Correct Ans : B

Subject : ENGLISH

Q.No: 88 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724915 expresses the same sentence in Indirect/Direct Speech.

She said that she hadn't stolen the jewelry.
A She said, "I hadn't stolen the jewelry.”
B She said, "I haven't stolen the jewelry.”
C She said, "I didn't stolen the jewelry.”
D She said, "He hasn't stolen the jewelry.”

Correct Ans : B
Subject : ENGLISH

Q.No: 89 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724916 expresses the same sentence in Indirect/Direct Speech.

He said to her, "Don’t make haste.”
A He told to her not to make haste.
B He advised her to make haste.
C He said her not to make haste.
D He advised her not to make haste.

Correct Ans : D

Subject : ENGLISH

Q.No: 90 1In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724917 expresses the same sentence in Indirect/Direct Speech.

He said, “The brave die but once.”
A He said that the brave died but once.
B He said that the brave dies but once.
C He told that the brave are dying but once.
D He said that the brave die but once.

Correct Ans : D
Subject : ENGLISH
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Q.No: 91 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724918 expresses the same sentence in Indirect/Direct Speech.

He said that he had had a nightmare the previous night.
A He said, "I have a nightmare last night.”
B He said, “"He has had a nightmare last night.”
(o} He said, "I had a nightmare last night.”
D He told, "I have had a nightmare last night.”

Correct Ans : C
Subject : ENGLISH

Q.No: 92 In the following question a sentence is given in Direct/Indirect speech. Out of the four alternatives choose the one which best
2724919 expresses the same sentence in Indirect/Direct Speech.

The musician said to me, “Could you please make a guitar available to me?”

A The musician requested me to make a guitar available to him.
B The musician requested me to please make a guitar available to him.
C The musician requested me to kindly make a guitar available to him.

The musician asked me that I could make a guitar available to him?
Correct Ans : A

Subject : ENGLISH

2‘7'\12219037 Which of the following statements is not correct with reference to learning?
A Teaching aids help in the process of learning.

B Motivation plays important role in learning process.

C It has no relation with maturity.

D It requires favourable environment

Correct Ans : C

Subject : ENGLISH

2}'1%1%49 Using the target language without the help of mother tongue is called—
A translation method of teaching

B direct method of teaching

C bilingual method of teaching

D structural method of teaching

Correct Ans : B

Subject : ENGLISH

Q.No: 95 . . Lo e ) . _
2725110 A method in which rules are applied in specific situations is known as
A inductive

B incidental
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C correlative
D deductive

Correct Ans : D

Subject : ENGLISH

(22'7'\12(;19161 The teachers are helped by the substitution table drills in—
A giving controlled language practice

B improving fluency of learners

C developing free writing skills

D evaluating the listening skills

Correct Ans : A

Subject : ENGLISH

(22.7'\120!'»:19178 Language immersion means learning the target language-
A without using the printed text

B using image/jpgs and diagrams

C intensively and using symbols

D all of the given options

Correct Ans : A
Subject : ENGLISH

(22'7'\120!_:19189 CLIL was first coined by which of the following linguists?
A T. D. Terrell

B David Marsh

C S. D. Krashen

D Karl Menninger

Correct Ans : B
Subject : ENGLISH

3'7'\‘2%19290 What does CLIL stands for —

A content and language integrated learning

B content language based interesting learning
Cc content language interstate learning

D context language integrated learning

Correct Ans : A
Subject : ENGLISH

Q.No: 100

. ) T . 5
2725121 Habit formation through repetition is a component of which method

A Constructivism
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B Task based language teaching
C Audio lingualism
D Communicative approach

Correct Ans : C
Subject : ENGLISH

27'\1205112021 Drilling is a teaching-learning technique in which of the following?
A Structuralism

B Constructivism

C Lexical approach

D Communicative approach

Correct Ans : A

Subject : ENGLISH

27'\1205112032 What is the basic characteristic of communicative language teaching?
A lot of focus on grammar

B emphasis on learning to communicate

C language activation is limited to classroom activity

D all of the given options

Correct Ans : B

Subject : ENGLISH

87'\1205113033 During the teaching of a language in a classroom, maximum participation of students’ is possible through —
A inductive method

B lecture method

C translation method

D discussion and demonstration method

Correct Ans : D

Subject : ENGLISH

27'\12%1130: The most important pre-requisite for language learning whether first or second is —
A skill based instruction

B a multilingual approach

C structural situational approach

D an input rich communication environment

Correct Ans : D

Subject : ENGLISH

Q.No: 105

. . . . . 5
2725135 Which of the following sees children as active learners in a language classroom?
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A children noting down the answer from blackboard

B children writing answer to questions after end of a poem

C children working in a group to generate the interpretation of a poem
D none of the given options

Correct Ans : C
Subject : ENGLISH

27'\12051130: What is a task in a task based language learning?

A a piece of work for parents to do their children’s homework
B a piece of work which enables learners to do an activity

C a piece of activity for teacher to do in the classroom

D a piece of work which exposed learner to a language

Correct Ans : B
Subject : ENGLISH

27'\1205113077 A good teaching learning material can-

A facilitate the teaching learning process

B help the learners acquire a language

C be a source of entertainment

D help the teacher to transact the material without any modification

Correct Ans : A
Subject : ENGLISH

27'\12(;113088 Which of the following methods of teaching cannot be used interchangeably with each other?
A reference method

B incidental method

C correlative method

D direct method

Correct Ans : D
Subject : ENGLISH

(217'\12(;1?: If a teacher makes his students respond to his actions and speech only by bodily movement, it will be called-
A play way method

B communicative approach

C task based language teaching

D total physical response

Correct Ans : D
Subject : ENGLISH
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(227'\12%11:70 What is the most important feature of a child centred language classroom?
A students’ interaction in the target language

B teacher teaching in mother tongue

C students doing their work silently

D none of the given options

Correct Ans : A

Subject : ENGLISH

(227'\1205114181 The communicative language teaching method promotes —
A the use of mother tongue freely in the classroom

B learners to encounter with real life situations

C learners to minimise spelling and grammar error

D all of the given options

Correct Ans : B

Subject : ENGLISH

(227'\1;511;92 How can a teacher correct the oral errors of the students?

A by pointing out the errors in general and let the student try to correct it himself first
B by ignoring the error as it will hamper their learning

C by asking other students to help him as peer tutoring is must in schools

D by correcting the error directly after the student makes it

Correct Ans : A

Subject : ENGLISH

(227'\12%81712 What does a conclusion of an essay include?
A Synthesizing your major points

B Describing the topic in detail

C Only the positive points

D All of the given options

Correct Ans : A

Subject : ENGLISH

(227'\12%8171; What is not included in an essay conclusion?
A Generic concluding phrases

B Weak statements

Cc Both A and B

D None of the given options

Correct Ans : C

Subject : ENGLISH
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(227'\1205817165 What is a "hook" in an essay?

A The best sentence of an essay introduction.
B The first sentence of an essay introduction.
C The body of the essay

D Both A and B

Correct Ans : B

Subject : ENGLISH

(227'\1205817176 Which of the following is a correct dateline for a business letter-
A August 20, 2023

B 20-Aug-2023

C Aug 20, 2023

D Aug 20 2023

Correct Ans : A

Subject : ENGLISH

(227'\1205817187 Effective professional correspondence uses an appropriate style, clear and concise language and -
A The passive tone

B Open punctuation

C The active voice

D Mixed punctuation

Correct Ans : C

Subject : ENGLISH

(227'\1205818198 what is the primary purpose of a report-

A To analyze problems and predict practical alternatives
B To control problems, sell products and services

C To monitor and control production, sales, shipping, etc
D To solve problems and supply facts

Correct Ans : A

Subject : ENGLISH

(227'\12%8191: Which of the following is not a communication channel?
A Writing -reading

B Speaking - listening

Cc Visualizing — observing

D Thinking - acting

Correct Ans : D
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Subject : ENGLISH

27'\12058192]? Communication without words is called-
A Verbal communication

B Non-verbal communication

C Oral communication

D Written communication

Correct Ans : B

Subject : ENGLISH

27'\1;5819221 What writing style is usually used in writing a report-
A Personal and critical

B Emotive and judgmental

C Objective and detached

D Subjective and detached

Correct Ans : C

Subject : ENGLISH

27'\12%819232 In a letter to the editor, what is placed below the sender’s address?
A Subject

B Reference

C Date

D Salutation

Correct Ans : D

Subject : ENGLISH

27'\1;581923 Which of the following is not a part of the letter to the editor?
A Salutation

B Photograph

C Signature

D Date

Correct Ans : B

Subject : ENGLISH

Q.No: 124
2725910

This is a hierarchy of effects or sequential model used to explain how advertising works:
A ADD

B AIDA
C PESTLE
D

SWOoT
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Correct Ans : B
Subject : ENGLISH

2'7'\12(;911215 Volney Palmer opened the first American advertisingagencyat___ in 1841.
A Pennsylvania

B Philadelphia

C San Fransisco

D Pittsburgh

Correct Ans : B
Subject : ENGLISH

Q.No: 126

2725912 Advertising is affected by forces
A Social

B Economic

C Technological

D All of the given options

Correct Ans : D
Subject : ENGLISH

2'7'\12(;911237 The motive, ‘to which an ad is directed, and designed to stir a person towards the goal that the advertiser has set’ is — known as
A Appeal

B Expectation

@ Demand

D Discover

Correct Ans : A
Subject : ENGLISH

25'\12(;91125 The words used in an advertisement is referred to as
A Data

B Artwork

C Copy

D Text

Correct Ans : C
Subject : ENGLISH

Q.No: 129 .

2725915 A newspaper advertisement

A Assists in Identifying new clients in a geographic region

B Encourages sales across the country irrespective of the circulation

C Promotes the readers to read between the lines
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D Promotes the reporters and other persons working for the newspaper
Correct Ans : A

Subject : ENGLISH

Q.No: 130

2725929 The word Resume is a word which means summary of academic qualifications of a candidate.
A German

B Italian

C American

D French

Correct Ans : D

Subject : ENGLISH

Y ergag CV stands for?

A Curriculum verse

B Curriculum vitae

C Curriculum velocity
D Curriculum volt

Correct Ans : B
Subject : ENGLISH

(227'\120591333 One of the main part of the resume that includes the address and date is-
A Salutation

B Heading

Cc Greeting

D Body

Correct Ans : B
Subject : ENGLISH

37'\1205913323 Apart from your name and contact details, the most important part of your CV is-
A Achievement

B Goals

C Date of birth

D Experience

Correct Ans : A
Subject : ENGLISH

Q.No: 134
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Correct Ans : A

Subject : Urdu
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Correct Ans : D

Subject : Urdu

Q.No: 136
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Correct Ans : D

Subject : Urdu

Q.No: 137
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Correct Ans : B

Subject : Urdu

Q.No: 138
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Correct Ans : A

Subject : Urdu
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Correct Ans : B

Subject : Urdu
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Correct Ans : D

Subject : Urdu
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Correct Ans : B

Subject : Urdu
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Correct Ans : D

Subject : Urdu

Q.No: 143 o k=t b
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Correct Ans : C

Subject : Urdu
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Correct Ans : A

Subject : Urdu

Q.No: 145
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Correct Ans : C

Subject : Urdu

Q.No: 146
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Correct Ans : C

Subject : Urdu
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Correct Ans : B

Subject : Urdu

Q.No: 148
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Correct Ans : A

Subject : Urdu

Q.No: 149 - : .
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Correct Ans : D

Subject : Urdu

Q.No: 150
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Correct Ans : D

Subject : Urdu
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D 1860

Correct Ans : B

Subject : Urdu

Q.No: 152
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Correct Ans : B

Subject : Urdu

Q.No: 153
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Correct Ans : D

Subject : Urdu
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Correct Ans : B

Subject : Urdu

Q.No: 155
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Correct Ans : B

Subject : Urdu

Q.No: 156

2715625 ?dﬁgﬁutur&*@_j’{dmior’?lj
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B 1919
c 1920
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Correct Ans : B

Subject : Urdu

Q.No: 157
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Correct Ans : B

Subject : Urdu
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Correct Ans : B

Subject : Urdu

Q.No: 159
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Correct Ans : B

Subject : Urdu
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Correct Ans : B

Subject : Urdu

Q.No: 161
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Correct Ans : B

Subject : Urdu

Q.No: 162
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Correct Ans : A

Subject : Urdu

Q.No: 163
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Correct Ans : A
Subject : Urdu
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Correct Ans : A

Subject : Urdu

Q.No: 165
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Correct Ans : A

Subject : Urdu

Q.No: 166
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Correct Ans : D

Subject : Urdu
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Correct Ans : B

Subject : Urdu

Q.No: 168
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Correct Ans : A

Subject : Urdu

Q.No: 169
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Correct Ans : A

Subject : Urdu
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Correct Ans : C

Subject : Urdu
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Correct Ans : A

Subject : Urdu

Passage:
0 T2 L S s & e e idee
Se S EGH AN Ui f e
gyt e o B Al St e A S iAT
Sz Gy LRI Ul B UG
L,G.J_J,.ziuyf Tuj,,-d;g«fq‘-_rgu:”"{ TJujLim,q_zr;eu_Ljr Pacigan

B S ai

N BEIEN (i

Q.No: 252 - 5 . .
2720340053 _{ﬁbfa.stJL*f‘_.tJLﬂ!

A Uﬁﬂ:fzj/"’utf
B {—aﬂ/‘”d/ Ut

c u:quu:

D u;fJUL'L)':

Correct Ans : C

Subject : Urdu
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Passage:

BTz L ug!_iél:.-'v_f,ﬂdmf" &gt enLidee
-“-:_u-'" A 3E U U f et
Ay w2 ie s S St e E S0

o2 Ay LRI U BRI UG

Ll uﬁffuﬁndxbg?ff_t‘éf’u:"(TJuﬁL—"In-cl’_,Zt';rn..@,{”:L;J/LJI.’JE’
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Q.No: 253 < .
272340054 € LKL sl
: b

A s

8 174
C Pl
D L,(}'

Correct Ans : D

Subject : Urdu

Q.No: 254 Which of the following is a factor of mental health?
2473611

fFafifea § @ SH-91 AR Wy &1 9es 82

Emotions
A
HaT
Rejection of parents
B
Hrar far grT iR
Broken home
C

g g TEr

D Tumb sucking
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SA[ST gHAT
Correct Ans : A

Subject : Pedagogy

Q.No: 255 Which is not following the comes under the co-operation of social process-
2473685

FEANT a1 THIH0T B e TSI Uisharst & Siarfd 75 & § SH-91 81 311 2

Unfavorable

A
wfager
Accommodation
B
FIRITIT
Assimilation
C
SITHATHRUT
Co-operation
D

TganT

Correct Ans : A

Subject : Pedagogy

Q.No: 256 Sequence of development among children from birth to adolescent is -
2473743

T ¥ freiRTeRT 0% gt & RN fpy s A gl § -

Abstract, Sensory, Concrete

A

Concrete, Abstract, Sensory
B

Abstract, Concrete, Sensory
@

Sensory, Concrete, Abstract
D

Correct Ans : D

Subject : Pedagogy
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Q.No: 257 Determinants of personality are divided in parts.
2473812
Afdda & FuRST BT ... HIT # FieT T g
Two
A
QA
Three
B
G|
Six
C
|
Four
D
IR

Correct Ans : B

Subject : Pedagogy

Q.No: 258 Which of the following characteristic of development is an incorrect one?

2476319
fawrg t Fafafed & 3 SH-d fo=war Tad 82
There are individual differences in development
A
faera ® afdrma s §
Development is the result of coincidences
B
FaT o1 ufkomy e @
It is a continuous process
Cc
g U 3ifava ufkar @
It is predictable
D

Tg 3rgATta @

Correct Ans : B

Subject : Pedagogy

Q.No: 259 For teachers a child is emotionally disturbed when?
2477575

it F AT T = WaTdHS U J WIAH il § Ta?

A When he participates in all competition enthusiastically
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&9 98 9+t yfaafrarel & Sce @ R dar @

Always remain calm

B
T i !
Never put undue pressure of classmates
C
Teurfedl R ®W W s gaa 7 sTd
Disrupting the whole class
D

o8t Fam & Fifva s

Correct Ans : D

Subject : Pedagogy

Q.No: 260 According to Erikson middle adulthood is a stage of?

2477595
TR & ITIR A TOHT B! STRT 2
Integrity vs despair
A
Ut I TR
Industry vs inferiority
B
TRNT F9H §4 TG
Productivity vs self-absorption
C
JATEHAT TATH HTH-SHINT0T
Shame vs autonomy
D

Ty 99T @
Correct Ans : C

Subject : Pedagogy

Q.No: 261 Legal orientation indicates
2479267

HIET I i #=ar

Preconventional level morality

Td-uRuRe TR F Afawar

Conventional level morality
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TRURS R $T Afpar
Ordinary level morality
C
I ®R $T Afwar
Principled level morality
D

Jgifor TR F Afdwar
Correct Ans : B

Subject : Pedagogy

Q.No: 262 Which of the following book on education is not written by John Dewey?

2479477
e W Fafif@d 3 4 oF @ e & fd grr 8t i 7€ 82
Education and the society
A
TIPIE TS § Wt
The School and The Child
B
TPA S g AT
The death and life of the great
C
TSY TS IR AB T U
School of tomorrow
D

@ 3TE AR
Correct Ans : C

Subject : Pedagogy

Q.No: 263 How many levels are there in Maslow’s theory?

2479890
Rl & figid # fore wR 72
5
A
5
6
B
6
8
C
8
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a4

Correct Ans : A

Subject : Pedagogy

Q.No: 264 'Children's Day in India' coincides with which of the following important days?

2650216
"WRd H a1 fegw Fafafed meayl i # ¥ fres i a7 @ 82
World AIDS Day
A
fay vew feaw
World Diabetes Day
B
fay ayde Raw
World TB Day
C
fay &t feaw
World Water Day
D

fay wa feaw

Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 265 National Rail and Transportation Institute (NRTI) is located in

2650239
AT Je 3R URagT GRIM (NRTI) 7 fRa g2
Vadodara
A
EEIE)
Indore
B
w©R
Lucknow
C
TGS
Dehradun
D
agwrg

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.
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Q.No: 266 With respect to internet, what is the full form of URL?
2651052

g & T #, URL &1 quf &0 &m 82

Uniform Resource Locator

A
g Rt dider
Unique Resource Locator
B
e Rt dide
Universal Resource Line
Cc
gfaeia R @
Uniform Reform Locator
D

gfawid Reid aides
Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 267 Since which year did the Department of Fishermen welfare and Fisheries Development start working independently?
2651382

TFIRT Bl 3R Ao [IHT fqumT 7 g af ¥ W T ¥ W 1 & (ar?

1956
A

1956

1964
B

1964

1978
C

1978

1993
D

1993

Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 268 Find the related group of letters from the given alternatives.
2653614

AMPG : DOSI :: ? : NKIQ
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U T faded ¥ Hefid SeR & Wg &1 9099 e

AMPG : DOSI :: ? : NKIQ

A 1o
5 KIOF
KIOF
IKFO
C
IKFO
FIKO
D
FIKO

Correct Ans : A

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 269 Select the option /number which is related to 3" number in the same way as 2™ number is related to a
2653686
1t number?

9:80:50:7?

30 TEdT [fweT &1 999 Y A SEd 9E ¥ 38 YR @Ed g of" gEdl HEaT 9gelr
HET ¥ weAA ¢
9:80::50:?

124

124

624

624

2499

2499
3199

3199

Correct Ans : C

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 270 Pointing to a boy Pravesh said, “ He is the son of my only son.” How is the boy related to Pravesh.
2653744

TH TS B 3R FIRT B gU T 3 Fgl, “I8 W HAN 9¢ HT 9T 31" TSHI Ya™ ¥ o YR Taifdra 82

A Grandson
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Son

der

Brother

urg

Daughter

¥

Correct Ans : A

Subject : Gen. Reasoning (Numerical Abi.
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